BERECHNUNG  DREIECK  ABC:

Gegeben:   ha = 5 cm,  Seitenhalbierende sa = 6 cm,  ( = 55°,  a > b.

Berechne:   Die Seiten a, b und c  sowie die Fläche A.

sin ( = ha : b

b = ha : sin (    .... sin ( = sin 55° = 0,8192

b= 5 : 0,8192

b= 6,1 cm
tan ( = ha : x1
x1 = ha : tan (   .... tan ( = tan 55° = 1,4281

x1 = 5 : 1,4281

x1 = 3,5 cm
ha² + x2² = sa²

x2² = sa² - ha²

x2 = ( (sa² - ha²) = ( (36 – 25) = ( 11

x2 = 3,32 cm

x1 + x2 = a/2

a = 2 (x1 + x2)

a = 2 (3,5 + 3,32) = 2 . 6,82

a = 13,64 cm
c² = ha² + (x2 + a/2)²

c² = 25 + (3,32 + 6,82)² = 25 + 10,14² = 25 + 102,82

c² = 127,82

c = ( 127,82

c = 11,3 cm
A = a . ha/2

A = 13,64 . 2,5

A = 34,1 cm²

